AP Statistics Notes: Linear Regression

Archaeopteryx is an extinct beast having feathers like a bird but teeth and a long bony tail like a reptile. Only six fossil specimens are known. Because these specimens differ greatly in size, some scientists think they are different species rather than individuals from the same species. If the specimens belong to the same species and differ in size because some are younger than others, there should be a positive linear relationship between the bones from all individuals. An outlier from this relationship would suggest a different species. Here are data on the lengths in centimeters of the femur (a leg bone) and the humerus (a bone in the upper arm) for the five specimens that preserve both bones.  

	femur
	38
	56
	59
	64
	74

	humerus
	41
	63
	70
	72
	84


Complete the scatterplot (LABEL!).
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What is the correlation coefficient?   r = _________________  What does it mean?
Describe the correlation coefficient for each graph:
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Write a complete sentence describing the scatterplot. 

There is a _______________________,   _______________________,  ____________________ relationship between ____________________________________ and _____________________________.


What is the slope?  

What is the y-intercept? 

What is the coefficient of determination? 

What is the equation?

What does each mean?  


Slope: 

Y-Intercept:


What is a residual?
Formula:

What is the residual for the point (38, 41)?
What is the residual for the point (59, 70)?

Draw the residual plot.

What does a residual plot tell us?

What is the coefficient of determination?  Interpret it.

That’s it!  Sorry I couldn’t be here today.  I won’t be here Monday either, so send me any questions you may have over email and I will try to respond quickly.  Don’t forget to watch the videos if you haven’t yet.  They explain everything!
